Quatrieme

Controle n°1 : Nombres relatifs

17/09/10

Exercice 1: (10 pts)

La calculatrice n'est pas autorisée

Effectuer les calculs suivants :

A=z (-9)+(-11) B=5

8+ (+459) C=13,7+(-9,4) D=-87,2- (+10,3) E = -(-6,7)-(-24)

Exercice 2 : (10 pts)

Effectuer les calculs suivants :

F=B8+(-6+(-7)) 6=-9+(4-15)-(-6) H=7.9- (-47 + (+9)) I = -96,8 - (-24) + 96,8 + (-46)
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Exercice 1: (10 pts)

La calculatrice n'est pas autorisée

Effectuer les calculs suivants :

A=(-9)+(-11)

B=58+(+459)

C=13,7+(-9,4)

D=-872-(+10,3)

E = (-6,7)-(-24)

Exercice 2 : (10 pts)

Effectuer les calculs suivants :

F=58+(-6+(-7))

...............................

6= -9+ (4 - 15)(-6)

...............................

.................................

...................................................




